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Problem 7 - For an N point DFT answer the following questions. You may assume that X[k| is the DFT of x|n|:
a. If x[n] is real, which two values of X[k] are a Iways real?
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b. The following sequences, x1[n| = [1, 2, 3, 4], x2[n] = (1, 4, 3, 2], x3[n] = [-1, -2, -3, -4], have the same
magnitude DFT as [X1 (k] Why daes x2[n| have the same magnitude DFT?.

v2lt) B a shfed wrsim of (1 L)
Shift 10 n Cawes < pbﬁ? lefnqﬂhq &';:) hu? wef m.:;gjﬂ;-fm,{g
¢. Why does x3[n] have the same magnitude DFT?, < honge
_ ) a7
X3L) 5 X'la) time - or tims @
The Grde is Chmged Wt el The ihagsi tete
d- if x[n] is real, XIk] is equal to X-kI§ Prove it.
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